o
==
5

4

N

o

7 L GBI r? N (N
17/ s G SN SN ) NN be

FE (SRR D BRIE)

B &R

—
—

=L

<L
N

)

J

Th

b4

X (S=1:25,000)

-
~
/.

2

f53
™
N

_
2
1 s
B K - /,/;ﬁa‘-./, : Mm
~ 5 a = s
—|H 8§90 w8
iy ¥R 4o 2B S
& oo (Hlpr| | Bigees
wmnwm.mbn ) A 2let ¥
2| = N IARE Hh
AHEEHE =
== (3 H= H A~ & Blar
WS — l_l_ A =7 . m
23 Dl N T b S
L melgy| ) &) TR
Sl T4 BN U S O 2F
o S MR, B \,?t.\..nu =Y
7 ® A Vw\ @y B

ol

[
=3I
A 11
S :\

/\

% ax
:1.4_},‘_'_‘5
Eé
/

o
J¢

EX

L
V3

N

<

w8

4.

&

7

_\5

S

'ﬂ'ﬂ;/‘r— j

1
S

W

B32,

7w

/w8 : X
KR (ol [oF | | : S8 NN
\ > M
e T
° —*E % § ,, 3 .f, ,. _U,/, N _uu N
EEE AR
NS WS M LS e SR
R i fa N VL &
3 \ TN S
U (E= NSNS I
{I wﬁ_ M_H_ [+ 1T RRNE ﬁ‘\ A ¢\

{i11& X](S=1:200,000)




2E RO ERXE
BEOEThOSHZLIOREE

iR =

REEE 2 THESE
L A T e 73

HR3—1 BEOSTNOHILM ELL

[L1[H—6 |

FiEe)

[ &4

11751018 A \

2 18 7 ) fu B BmEs

iy - = = S N\
_— \\‘
—— N
N\
\
SR 1
N \
—— \ \
S b
— \
oy
——— X/ |£
7

|——

17

A

100 m

_I— |

TEEDORENZLDHHII100kN/ MEBZ HEH

\
\
\
3 b7 \
N z \
S
2\ \
ol
22
o \ W\ .
A LR s
\ \ /,,"
oy
g %
\ \ Y \
\ 1 7 \
s > \
) N
= ket 7
) 7 \
e \
(

1:1,500
50

BEDETNDHD L DR

TR RIER
/3 ELVVEZTOETINDHDH DRI,

C— TRFZFHESHIIMEEZHEH

5F

gl

T~




RIER M D AR IR R R E

HHX3—2 BEWITERTIEBESNSEEICETHEIE/1) REEE | pkoreg
SEAHEONE | BmEs 11751018 B | IH—6 [ et | /D b [ 21 T ]
) SYERHh O TiR(ZkEE T 5L i SMERH A
Eﬁg TREOBBOSILENDKRES TREDHBEHILIOKRES TEREOBBOSILENDOKRES TREOHBESILIOKRES
= = AN A\ T = = [ra = A\ = | =
P 100kN/m%#8%2% | 1.00 | 000 ~ 386 16287 |3mZEfBZB| 000 ~ 1.79| 4.00 20.22 | 100kN/m%#825 | .00 | 11.27 ~ 4400 162.87 |3mEBZB| 25.00 ~ 44.00| 4.00 20.22
FhLst 1.00 | 386 ~ 1164 100.00 | NS | 1.79 ~ 11.64| 3.00 15.16 st 1.00 | 6.00 ~ 1127 100.00| FnLS | 6.00 ~ 2500| 3.00 15.16
2 100kN/m%8%2% | 1.00 | 000 ~ 389 | 16349 |3mEZB| 000 ~ 1.75| 3.97 20.05 | 100kN/m%E##8z25 | 1.00 | 11.13 ~ 44.76 | 16349 |3mZE#BZB| 2500 ~ 44.76| 3.97 20.05
FhLst 1.00 | 389 ~ 1168 100.00 | NS | 1.75 ~ 11.68| 3.00 15.16 st 1.00 | 6.00 ~ 1113 100.00| FnLS | 6.00 ~ 2500| 3.00 15.16
3 100kN/m#EBZ5 | 1.00 | 000 ~ 363| 156884 |3mEHBZB| 000 ~ 082| 3.561 17.74 | 100kN/m#E#EZ 5 | 1.00 | 11.58 ~ 3821 158,84 |3m&E#Bz 5| 2000 ~ 3821 3.51 17.74
FhLst 1.00 | 363 ~ 1142 100.00 | NS | 082 ~ 11.42| 3.00 15.16 st 1.00 | 6.00 ~ 1158 100.00| FnLS | 6.00 ~ 20.00| 3.00 15.16
4 100kN/m%#8Z2% | 1.00 | 000 ~ 357 157.66 |3mZEBZ5| 000 ~ 035 3.19 16.11 | 100kN/m#Z#BZ5 | 1.00 | 1054 ~ 36.91 157,66 |3m%#Bz25| 2500 ~ 3691 519 16.11
s 1.00 | 8567 ~ 1135 100.00 | #NLS | 085 ~ 1135 3.00 15.16 s 1.00 | 5.00 ~ 1054 100.00 | =nhst | 6.00 ~ 2500 3.00 15.16
5 100kN/m%E#8z5 | 1.00 | 000 ~ 288 145.71 |3mZz#Bz3| — ~ — — —| 100kN/M%E#B25 | 1.00 | 11.02 ~ 3750 | 145,71 |3mEBZ% - ~ — — —
s 1.00 | 288 ~ 1067 100.00 | #nLSy | 0.00 ~ 1067 295 14.93 ThList 1.00 | 5.00 ~ 1102 100.00 | =nhst | 6.00 ~ 3750 2.95 14.93
P 100kN/m%E#8z5 | 1.00 | 000 ~ 285| 14518 |3mZz#Bz3| — ~ — — —| 100kN/m%&#25 | 1.00 | 11.02 ~ 3600| 14518 |3mEiBZ% - ~ — — —
FhLst 1.00 | 285 ~ 1064 100.00 | TS | 0.00 ~ 1064] 2.96 14.94 FhLst 1.00 | 6.00 ~ 1102| 100.00| FnLS | 6.00 ~ 36.00| 2.96 14.94
7 100kN/mM%E 25| 1.00 | 000 ~ 2.74 143.22 |3m&EHEZASH| — ~ — — —| 100kN/mi%#825 | .00 | 1091 ~ 2990 14322 |3mE#Bz2% - ~ — - -
FhLst 1.00 | 274 ~ 1052 100.00| FnLS | 0.00 ~ 1052 2.87 14.53 zhLst 1.00 | .00 ~ 1091 100.00 | #nLst | 6.00 ~ 29.90| 2.87 14.563
P 100kN/m%E#25 | 1.00| 000 ~ 227| 13528 |3mz#B25| — ~ — — —| 100kN/m%#825 | .00 | 11.65 ~ 3000 13528 |3m&x#Bz2% - ~ — - -
Fhst 1.00 | 227 ~ 1005 100.00| FnLS | 0.00 ~ 1005| 2.87 14.51 Fhest 1.00 | 6.00 ~ 1165 100.00| Fnst | .00 ~ 3000 2.87 14.51
9 100kN/m%z#25| 100|000 ~ 248| 13882 |3mx#Bz5%| — ~ — — —| 100kN/m%&#B25 | 1.00 | 11.15 ~ 2800 13882 |3m&EiBzZ% - ~ — — —
s 1.00 | 248 ~ 1026 100.00 | =nLst | 0.00 ~ 1026 2.83 14.52 ThList 1.00 | 5.00 ~ 1115 100.00 | =nLst | 6.00 ~ 2800 2.83 14.52
10 100kN/m%E#8z5 | 1.00 | 000 ~ 300\ 14771 |3mZz#Bz2| — ~ — — —| 100kN/m%E#25 | 1.00 | 1057 ~ 2800\ 14771 |3mE#BZ% - ~ — — —
s 1.00 | .00 ~ 1079 100.00 | #hLs | 000 ~ 1079 2.99 16.12 s 1.00 | 6.00 ~ 1057 100.00 | =nst | 6.00 ~ 2800 2.99 16.12
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEEZ D ~ 100kN/ Mm%z 5 ~ 3mEEZ D ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEEZ D ~ 100kN/ Mm%z 5 ~ 3mEEZ D ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




